Vel. disp. [km/sec]

Obs VTh

\'

Radius [pc]

| © o
= O O O O

TER 8 1 10

_4 | 1 LI 1 1 IIIIIII 1 LI I
Dg,,=26730 pc 5 F -3 w"‘-‘ E
Red. x* (vel. only)=2.21 3 _8 E_ _E
> - .
M.=(6.41+0.08)-10% M, T o E :
M/L=3.44+1.30 08
RH=20'49 pec, RC=12'17 pc Qz 0.2) E___w—”\é\w—g
~ = 3
MF Slope=-0.68 o —0.1 =
2 _0.2 E 1 1 IIIIIII 1 1 IIIIIII 1 1 I:

10 100

. Radius [arcsec]
2 : I I IIIIIII I I IIIIIII I I I: 8 2 : I I IIIIIII I I IIIIIII I I I:
_ ] < = ]
o 1 ETE E
1 F g - 1 F .
5 15 PN
0.5 - - © 05 Ry =
5 H 2 Q B
1.6 o5t
RREEEEEEEEEEE 4T, 0F---mo-o--- -
15 0sf ;A
:_I 1 IIIIIII 1 1 IIIIIII 1 1 I—- —1 :_I 1 IIIIIII 1 1 IIIIIII 1 1 I—:

10 100 10 100

Radius [arcsec] Radius [arcsec]



